N & O &

20184

H
r
2

A L BRI g Ot S

2N
X ZH -
L= B

el

At

o o Al

=H o

A

Off &t 24

dEE
Off & 24

M X

Al

182,
88,
1
61
29,

147,332
915,291

,837,370
,849,361

545,310

142,725,130

39,422,202

H

= M

180,
88,
1
61
28,

571,655
915,291

,298,653
,628,645

729,066

141,403,764

39,167,891

g 33 X2

= N W

911,742
314,232
354,302
243,208

1,049,294

A 137,552

Al

14,200

3,900
10,300

14,200

307 glztol &

Al

14,200

3,900
10,300

14,200

S
e
e
o
0z
>
e
H
FA

©
X
0x
M
é
19
op
oo
ton
=
Q

= H

14,200
14,200

3,900
10,300

14,200

k=l
ox
e
e
5
I
=
m
Ho
02
Pl
0

= M

310,000

260,000
50,000

310,000

307 21201 &

H

Al

310,000

260,000
50,000

310,000

o
w
e
S
M
=t
<
0
20
02
[=s
HT
P

©
2
0
ro
1@
-
iz
z
m
0
02
-
%0

= M

310,000

310,000

260,000
50,000

310,000

2
0x
o
to
O
19
i
ou
-
B
>
It

H

Al

20,000

10,000
10,000

20,000

307 21201 A

= M

20,000

10,000
10,000

20,000

02 It HAMNAEE
(]
=

SEMAAS

H

Al

20,000
20,000

10,000
10,000

20,000

2
0x
&
jie
]
w
=
=]
-
on
EJ
Ho
1]
X

7,000

7,000

3,000

3,000




GRS
Ot

0l - OtEEX B
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M. (3H) - NSAY - BAS %Eﬁ HR=2
03 AIZH =X 2= X H| 3,000 3,000 0
OW4d - 0ts - JIIZ20F X 3,000
301 et A= 4,000 4,000 0
09 HAIAHI BEAZ 4,000 4,000 0
O 2ZA MHOILI S DA
40,000& x50H 2,000
OHIERA HHAEE Hd3=0en=
200,000& «103&l 2,000
AFAoA Mets L JHH HEKD =AY 10,000 10,000 0
& 5,000
Al 5,000
307 giztol A 10,000 10,000 0
== 5,000
Al 5,000
02 DI2ZtF AAMEE X 10,000 10,000 0
OMFLAUA HSDSF 5,000
= 2,500
Al 2,500
OJIgHM UHUERZD LAY 5,000
& 2,500
Al 2,500
MFA HESHHEAS 2HAE 20,000 20,000 0
307 2iz2to| A 20,000 20,000 0
03 QIZIHEHAESIEHIEX 20,000 20,000 0
ONFA HEHHE S SHXH 20,000
MIHEH ANE2H 445,424 425,814 19,610
= 314,232
& 65,596
Al 65,596
307 212t0| & 445,424 425,814 19,610
= 314,232
& 65,596
Al 65,596
02 QI2tAAMAIE E =X 445 424 425,814 19,610
OFEHENHAS LAl XA 445 424
= 314,232
== 65,596
Al 65,596
HEHSF2t J|E S A 5,000 10,000 A5,000
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03 &AL EH| 5,000 10,000 A5,000
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o= 1,706
Al 3,412
F AL HA ESH| 27,000 21,000 6,000
=} 8,100
Al 18,900
307 QI2t0| ™ 27,000 21,000 6,000
& 8,100
Al 18,900
02 QI2tAAMAIE E =X 27,000 21,000 6,000
OF S HA ESH| 27,000
= 8,100
Al 18,900
MNAUA ZHugns 29 3,000 5,000 A 2,000
201 gBt2Ad| 3,000 5,000 A 2,000
01 AP 22| H| 3,000 5,000 A 2,000
OZdENLLNE LAY S 600,000 *x53| 3,000
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= 2,699,121
J| 196,365
== 710,100
Al 1,593,893
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= 18,900
Al 8,100
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Al 8,100
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Al 748,331
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Al 2,800
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Al 8,400
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Al 8,400

11T MISXASEX 12,000 10,800 1,200
OR2IIE EXAIE 52 =E X2 12,000
< 3,600
Al 8,400

ANE d4X &F - Xz X 18,000 18,000 0
J| 9,000
< 3,600
Al 5,400

307 glz2tol & 18,000 18,000 0
J| 9,000
< 3,600
Al 5,400

11 ALSI S RALEE = 18,000 18,000 0
OstR2IIE SXNAE d4X 4EIN=XH 18,000
J| 9,000
< 3,600
Al 5,400
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Al 12,500
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Al 581,053
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Al 16,300
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J| 33,700
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01 927 24| 11,000 11,003 A3
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11T MISXASEEX 37,142 44,287 AT, 145
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< 5,571
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J| 27,045
< 5,795
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J| 27,045
< 5,795
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J| 90,070
< 21,015
Al 32,844

307 21201 A 143,929 135,752 8,177
J| 90,070
< 21,015
Al 32,844

10 ALSISXAIEEE2IHEX 135,449 127,314 8,135
o=24gHl 135,449
J| 81,590
= 21,015
Al 32,844

11T M SXAISEEX 8,480 8,438 42
Odl+== XA A H 8,480
J| 8,480

JIEEY Jtoll At nEXNEEZOY 29 42,000 41,378 622
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Al 6,300

11T MISAASEX 42,000 41,378 622




= _ — d =
CHB - BI(BH) - NN - B e 2
ONEZHIMNA nIEX=Z 42,000
J| 29,400
< 6,300
Al 6,300
A= oA n¥XNsE20d 29 12,000 11,965 35
J| 8,400
< 1,800
Al 1,800
307 21201 A 12,000 11,965 35
J| 8,400
< 1,800
Al 1,800
11T M SRASEX 12,000 11,965 35
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11T MISRASEX 9,084 9,284 A 200
OUE=EY 23 ANE SAMAL ExU=S 9,084
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Al 2,271
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< 19,980
Al 46,620
307 21201 A 66,600 66,960 A 360
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= 62,748
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J| 36,308
< 7,871
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OsZAEHH 174,637
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Al 31,110
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01 At 22l 74,800 0 74,800
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100, 0003 4 & 123] 4,800
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7,000,000& x10H 70,000
307 gl2tol & 116,000 40,000 76,000
11T ALS S XAEE = 116,000 40,000 76,000
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gidl) 116,000
otrs=Xl XI& 20,533,221 1,790,084 18,743,137
= 16,433,744
= 2,448,505
Al 1,650,972
OElolg J18&dAt 12,000 12,000 0
201 2et24d] 12,000 12,000 0
03 &Ar2 I 12,000 12,000 0
O0Eolg I8 &AL 12,000
QA0S IHEXN A 493,721 490,934 2,787
= 345,604
< 77,719
Al 70,398
301 g2 d= 469,317 480,134 A 10,817
= 328,521
< 70,398
Al 70,398
01 MI2EZE 06z 469,317 480,134 A 10,817
ogAlts 254 438,658
= 307,060
< 65,799
Al 65,799
OZlotEs dLL=XE 25,516
= 17,862
< 3,827
Al 3,827
OYA=eiI|12t 2RI A 5,143
= 3,599
< 772
Al 772
307 21201 A 24,404 10,800 13,604
= 17,083
< 7,321
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SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
= 18,750
Al 56,250
01 AIBIEX A L2 75,000 75,000 0
OEA0ts ANEHEZ 75,000
o= 18,750
Al 56,250
Ols &< Xl & H = 670,086 335,997 334,089
= 469,050
=} 100,518
Al 100,518
301 et A= 670,086 335,997 334,089
= 469,050
= 100,518
Al 100,518
01 AMFSIEXEE 4562 670,086 335,997 334,089
ootseYe X & AHx 670,086
= 469,050
& 100,518
Al 100,518
FUHE OlsSSEAMH A X 583,500 520,175 63,325
= 430,000
Al 153,500
101 Q124 H] 288,000 266,017 21,983
= 232,000
Al 56,000
03 RIHL*ZZXHE = 288,000 266,017 21,983
OC2UAEENEH 29 288,000
= 232,000
Al 56,000
201 et Y| 47,500 35,500 12,000
=2 40,500
Al 7,000
01 AP 22| H| 20,300 15,300 5,000
OEEAEEHNEH 29 20,300
= 18,300
Al 2,000
02 2224 H| 22,200 16,200 6,000
OCEEAEENEH 29 22,200
= 18,200
Al 4,000
03 A2 H H| 5,000 4,000 1,000
OEEAEEHNEH 29 5,000
= 4,000
Al 1,000
202 o4 | 12,600 11,600 1,000
= 8,800




SH: OEISD
HE: 04 -0
Sl oS =X

S=A AE (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 3,800
01 = LH o4 1l 12,600 11,600 1,000
OEEAERENH 2g 12,600
= 8,800
Al 3,800
301 et A3 202,400 171,058 31,342
= 127,700
Al 74,700
01 MeI28E+06l= 33,000 33,400 A 400
OEHAEENH 29Y 33,000
= 20,000
Al 13,000
09 HALAHIEA S 30,000 22,000 8,000
OEEAHEHNH 29 30,000
= 17,000
Al 13,000
1M1IIEESS 139,400 115,658 23,742
OLEEAERENH 29 139,400
= 90,700
Al 48,700
307 eIzl & 28,000 30,000 A 2,000
= 18,000
Al 10,000
01 22724l 28,000 30,000 A 2,000
OSEYAEENH 29 28,000
= 18,000
Al 10,000
401 AIEBIZ 28I 3,000 3,000 0
= 2,000
Al 1,000
01 A& Hl 3,000 3,000 0
OLEEAEEHNH 29 3,000
= 2,000
Al 1,000
405 RHoHF S HI 2,000 3,000 A 1,000
= 1,000
Al 1,000
01 AL EZFH S 2,000 3,000 A1,000
OSEYAEENH 29 2,000
= 1,000
Al 1,000
EYAEENH AHE 50,000 310,000 A 260,000
201 et 30,000 0 30,000
01 At 22l 30,000 0 30,000
OFUSZENMZ HHEHZ 2 30,000




AN GEIEY
Hu: 04 - OIE=X Z&
gl Ots=EX X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
405 XHoHF S HI 20,000 0 20,000
01 AL ESFH S 20,000 0 20,000
oXH2AZTANZ IR 20,000
Ots+=% XA 18,598,419 0 18,598,419
= 15,187,184
< 2,241,578
Al 1,169,657
101 124 dl 295,554 0 295,554
= 206,888
< 29,555
Al 59,111
4 D12t ZE2XREES 295,554 0 295,554
ots=¢ X¥& 295,554
= 206,888
< 29,555
Al 59,111
201 Let24d] 27,731 0 27,731
= 19,412
< 2,773
Al 5,546
01 At 22/l 27,731 0 27,731
O0ts+=& X& 27,731
= 19,412
= 2,773
Al 5,546
301 L2 A Z 18,275,134 0 18,275,134
= 14,960,884
< 2,209,250
Al 1,105,000
01 MEIBEE 2063 18,275,134 0 18,275,134
Oolts=¢ A& 18,275,134
= 14,960,884
< 2,209,250
Al 1,105,000
Otrs=EXIAE X 13,886,548 13,093,339 793,209
= 3,406,818
< 2,535,809
Al 7,943,921
OtESXAIE 22XH 3,769,007 3,769,004 3
= 548,851
Al 3,220,156
307 21201 A 3,769,007 3,769,004 3
< 548,851
Al 3,220,156
10 ALSISXAIEEER2IHEX 3,769,007 3,769,004 3
O0ts=XAIE 23| 3,769,007




AN GEIEY
M g - ots=EX BT
&2 OFSEXAE X (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 548,851
Al 3,220,156
Ots=XAE SAX EEE 105,480 105,480 0
< 31,644
Al 73,836
307 glz2tol & 105,480 105,480 0
< 31,644
Al 73,836
10 AL SXAIEEE2EH EX 105,480 105,480 0
OOIS=EXAE SAL SE€=Y 105,480
< 31,644
Al 73,836
Ots=XAE 250t K& 50,000 50,000 0
301 et a = 50,000 50,000 0
01 MEIBZE 05z 50,000 50,000 0
OOls=XAIE B350t 2HAHI(3IHAIE)
500& 200 *3652 36,500
OOtS=XAIE Ot =80 &H(5.2)0ES
Ze 300,000& *45H 13| 13,500
MASH(OtES=EXAA) 575,000 575,000 0
= 517,500
= 40,250
Al 17,250
307 glz2tol & 575,000 575,000 0
= 517,500
= 40,250
Al 17,250
11T MISXASEX 575,000 575,000 0
O0ts=XAIE 4AHSAH 575,000
= 517,500
< 40,250
Al 17,250
AN&ots XI& 117,577 117,575 2
< 35,273
Al 82,304
307 21201 A 117,577 117,575 2
< 35,273
Al 82,304
11T M3 SXAISEEX 117,577 117,575 2
OA&ots K& 117,577
< 35,273
Al 82,304
RES0ls O88 2ZX& 1,160,586 1,138,650 21,936
= 431,595
< 323,696
Al 405,295




AN GEIEY
Hu: oM - OlS=X =d
&2 OFSEXAE X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 1,160,586 1,138,650 21,936
= 431,595
< 323,696
Al 405,295
10 ALl SXAIEEE2EH EX 1,160,586 1,138,650 21,936
OoREsSs 1858 24 1,160,586
= 431,595
= 323,696
Al 405,295
St{IloHOlEs & 29,2, AFSHI 135,095 135,095 0
= 52,886
< 39,665
Al 42,544
307 21201 A 135,095 135,095 0
= 52,886
< 39,665
Al 42,544
10 ALSISXAIEEE2GHEX 135,095 135,095 0
OSIsl ots HdH2I 135,095
= 52,886
< 39,665
Al 42,544
Ots=XI WAL ItA 732,960 698,880 34,080
= 366,480
< 146,592
Al 219,888
301 e A3 732,960 698,880 34,080
= 366,480
< 146,592
Al 219,888
01 Ml2ZE 6= 732,960 698,880 34,080
OO0tS =X WAHALSI L Xt X&) 732,960
= 366,480
< 146,592
Al 219,888
ANEotsdH 294 XA 3,703,062 3,484,194 218,868
= 1,851,531
< 740,612
Al 1,110,919
307 glz2+ol & 3,703,062 3,484,194 218,868
= 1,851,531
= 740,612
Al 1,110,919
11T MISXASEX 3,703,062 3,484,194 218,868
OXgotsHH Jl22gl 3,703,062
= 1,851,531
< 740,612
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SN &R
Hu: oM - OlS=X =d
e OrsSSXAIE XS (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| T 7770079
Ex=58Y XN 77,064 90, 336 N 13,272
= 29,232
== 11,693
Al 36,139
307 2Iz2t0| A 77,064 90, 336 N 13,272
= 29,232
= 11,693
Al 36,139
11T AISIEXAIEEX 77,064 90,336 N 13,272
EXZSNGE (Y90tsHdH 77,064
= 29,232
= 11,693
Al 36,139
EY9 A 164,160 170,820 AN6,660
= 82,080
& 32,832
Al 49,248
307 QI2t0| ™ 164,160 170,820 A\ 6,660
= 82,080
& 32,832
Al 49,248
11T A EXAIEEX 164,160 170,820 A6,660
OERSY X4Y90ot=s4dH 164,160
= 82,080
= 32,832
Al 49,248
XNEOolsSHE SAHA EX=E 270,000 270,000 0
307 2I2t0| & 270,000 270,000 0
10 AISIEXAIEEHE2IHIEX 270,000 270,000 0
OXNAOSHE SALA X
150,000& x150H ~12& 270,000
24 XNEotsdH A& 151,027 0 151,027
= 75,514
=} 30,205
Al 45,308
307 QI2t0| & 151,027 0 151,027
= 75,514
=} 30,205
Al 45,308
11 A EXAIEE X 151,027 0 151,027
O0R% XNY0t=SHEH XA 151,027
= 75,514
& 30,205
Al 45,308
XNEOotsSHEH SAAHRIHL Y] 222,480 172,080 50,400




SN OIS
Hu: oM - OlS=X =d
e OrsSSXAIE XS (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
= 44 496
Al 177,984
307 2iz2to| A 222,480 172,080 50,400
= 44 496
Al 177,984
10 MM SAANEEHESIGHEX 222,480 172,080 50,400
OXNEOSHE SAFAH HIH&HI 222,480
= 44,496
Al 177,984
NEotsHEH 24 XA 2,436,650 2,183,175 253,475
& 500,000
Al 1,936,650
307 QI2t0| ™ 2,436,650 2,183,175 253,475
& 500,000
Al 1,936,650
11 Al EXAIEEX 2,436,650 2,183,175 253,475
OXE0tsHdEH s SAH XN 2,000,000
o=t 500,000
Al 1,500,000
OXY0l=sHEH EQX2Y9E 24AH X 225,600
OX<EotsHdEH 2-AH| 211,050
X HotsHE SAHUS 10,000 8,200 1,800
307 2I2t0| ™ 10,000 8,200 1,800
11 A EXAIEEX 10,000 8,200 1,800
OX<E0tsHEH st0ts SAUE 10,000
NEotsHE A - el K& 13,200 13,200 0
307 2iz2to| & 13,200 13,200 0
10 MM SAANEEHESIGHEX 13,200 13,200 0
OXNHOSHE H - HEtH K&
200,000 *66H 2~ 13,200
XNEotsHdEe RMw2H X3 13,200 13,200 0
307 2Iz2t0| A 13,200 13,200 0]
10 M SXNAEEHESIHEX 13,200 13,200 0
OXY0ot=sHdH WMWFH X
200,000 *66H 2~ 13,200
OlsSEXAESHH EX23 XA 2,000 2,000 0
307 QI2t0| ™ 2,000 2,000 0
02 QI2tAAMAIE E =X 2,000 2,000 0
oOMSME ECECS AZHE Y 0| (HFAXIEO0L
SHE M) 2,000
OIS RIS A ZEALY 28,000 28,000 0
201 et | 23,000 23,000 0
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 15,000 15,000 0
OOtsdHel N (ZAE L WMHHE S) 5,000
Oot=sdclEE(2EH HE &) 5,000
OOt &S0l & A M 1,500
O0tsHAHEZEHM TFT AH2 s 2¢ 1,500
OOSESITANZTHAS 29 2,000
03 &Ar2 I 8,000 8,000 0
OOls&#MIIF? 2g(/328 S) 5,000
OO0ts&aE M NOILE K= 3,000
308 XXM SO0l A 5,000 5,000 0
07 IS MU S = 5,000 5,000 0
OO0lsESEA =& XNLEFRE A3 XA
i BE= 5,000
H= 00l |AZe 10,000 0 10,000
201 ¢er24| 5,000 0 5,000
01 At 2t 2l 5,000 0 5,000
O&= 0l0l= KX 2el 5,000
206 M= Hl 5,000 0 5,000
01 MHZ 8l 5,000 0 5,000
O&d= 0Ol0l& KX 2el 5,000
St s0l83ME ALY 110,000 0 110,000
401 AIEHI L 2] 90,000 0 90,000
01 A& tl 90,000 0 90,000
Ostws0lsZE IS ALY 90,000
402 RI2HX=20| M 20,000 0 20,000
01 2IZEH 2 A B (KM ) 20,000 0 20,000
OSW=0l2ZMEAS (MOIEHEEESEX
2) 20,000
=M 0l0tetE 30,000 0 30,000
< 10,000
Al 20,000
307 gl & 30,000 0 30,000
< 10,000
Al 20,000
02 IZHEHAHE L 30,000 0 30,000
O=HMOHeolotetE 30,000
< 10,000
Al 20,000
2= K& 136,400,372 117,383,925 19,016,447
= 66,054,576
< 55,210,262
Al 15,135,534
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Hu: 04 - OIE=X Z&

o2l B X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
25z A& 70,553,000 68,244,084 2,308,916

= 52,918,000
< 7,054,000
Al 10,581,000
301 gtE L= 70,553,000 68,244,084 2,308,916
= 52,918,000
< 7,054,000
Al 10,581,000
01 M2I2EZE+06l= 70,553,000 68,244,084 2,308,916
ogwotEsE XA 70,553,000
= 52,918,000
< 7,054,000
Al 10,581,000
3HI~5M SRl EESE 45,895,670 27,196,200 18,699,470
< 45,895,670
301 L2 A Z 45,895,670 27,196,200 18,699,470
< 45,895,670
01 M3IBZE 063 45,895,670 27,196,200 18,699,470
OS3MI~5M FeltEESZ 45,895,670
< 45,895,670
Fetots gz B2 50,400 72,000 221,600
< 38,304
Al 12,096
301 et A3 50,400 72,000 221,600
< 38,304
Al 12,096
01 MI28E+06l= 50,400 72,000 221,600
OFsols gt B2 50,400
= 38,304
Al 12,096
SO0IESEXN2HH /IE29Y 350,000 300,000 50,000
307 glz2t0ol & 350,000 300,000 50,000
05 RIZHRIE 3 350,000 300,000 50,000
OFKOISEXNZUE AE2L 350,000
B EEE NJ 1,451,400 1,451,400 0
301 L2 A= 1,451,400 1,451,400 0
01 MEIBEZE 05z 1,451,400 1,451,400 0
O3 &0l & 30,000&+2,500H x12& 900,000
o3dola 22X 30,0003 440K 123 158,400
o535 014 22X 50,000 =655 «12& 393,000
E] A SS2SHALY 40,000 20,000 20,000
307 21201 A 40,000 20,000 20,000
11T MISRASEX 40,000 20,000 20,000
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AN GEIEY
Hu: oM - OlS=X =d
Sl MEE AT X (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
dFd a3 XA 1,446,100 920,000 526,100
< 2,000
Al 1,444,100
£ Fol=3 € AH 2=H XN 1,430,100 910,000 520,100
301 LA Z 1,430,100 910,000 520,100
01 MI28E+06l= 1,430,100 910,000 520,100
OSMOt Olal =40t Ed=ot= 726,900
OAIMOL Ol sd0F UHH 2=Hl N& 703,200
OLOIEDl E2NMY 2528 23 2,000 10,000 A8,000
= 2,000
307 21201 A 2,000 10,000 A8,000
= 2,000
11T MISRASEX 2,000 10,000 A8,000
Ootolgll E2HY 25287 24 2,000
< 2,000
d=g xdEHM X2 14,000 0 14,000
201 Zer24| 14,000 0 14,000
01 At 22/l 14,000 0 14,000
OXFHY oI 12 14,000
CtE23tALE X & 1,381,693 1,227,590 154,103
J| 538,717
< 220,716
Al 622,260
Ct23tALS X & 1,381,693 1,227,590 154,103
J| 538,717
< 220,716
Al 622,260
ChENEXNJHEH 29 172,900 163,134 9,766
J| 86,450
= 25,935
Al 60,515
307 glz2tol & 172,900 163, 134 9,766
J| 86,450
< 25,935
Al 60,515
11T M SXAISE EX 172,900 163,134 9,766
OUIZaIIEXNJAEEH 29 172,900
J| 86,450
< 25,935
Al 60,515
AELE @ JUHME 5 YRUSAHHA T3 219,600 202,350 17,250
J| 153,720
= 21,960
Al 43,920

_27_




AN GEIEY
M O2A XA
SHol: CHRBHASI K & A ER)
= _ — d =
SA - B (SA) - MRAY - BYS e 2
307 21201 & 219,600 202,350 17,250
J| 163,720
& 21,960
Al 43,920
11T M SXASEEX 219,600 202,350 17,250
OXHLE 2 IHMES UM A X2 219,600
J| 163,720
< 21,960
Al 43,920
CtE3otE At 2tel X3 50,856 48,500 2,356
J| 35,599
= 5,086
Al 10,171
307 glztol & 50,856 48,500 2,356
J| 35,599
=) 5,086
Al 10,171
11T MISRASEX 50,856 48,500 2,356
OL=23ItE Al 22l X& 50,856
J| 35,599
& 5,086
Al 10,171
ChE2NE XN HEH SAE XA 27,409 25,795 1,614
< 10,964
Al 16,445
307 21201 & 27,409 25,795 1,614
< 10,964
Al 16,445
10 ALl SXNAIEEE2EH EX 27,409 25,795 1,614
OC=IEXNFHEH SAtH X 27,409
=) 10,964
Al 16,445
ChE3NEXNHEH SAL = 72,720 21,960 50,760
=) 8,856
Al 63,864
307 21201 & 72,720 21,960 50,760
=) 8,856
Al 63,864
10 ALSISXAIEEE2EH EX 72,720 21,960 50,760
OU=ZANEXNFLAH SAMI = 72,720
< 8,856
Al 63,864
C2sXNJAH JIs2st 50,000 0 50,000
402 212t X201 & 50,000 0 50,000
01 212t 2 AL E = (REM ) 50,000 0 50,000
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01 & b= T}
CI23HAIS X &
Ct23tAISI X )
5 - 4
H-H2 - B9 (3H) - HEAY - BA=S %Ei 2t
307 2Iz2to| & 11,000 16,000 A5,000
02 QIZHA AAIE E X 11,000 16,000 A5,000
OZEFTOHY SF2MES25UBIN(HEFAINHA
CHHIE ol 3l) 5,000
OZE0FTOHA AIZHES U213t XA
ZSHH E) 3,000
OUR3INE S4id ERWA 2H(2DS A
Ltsdgal) 3,000
Y I=ssdE 24 126,551 123,220 3,331
& 46,824
Al 79,727
307 2I2t0| & 126,551 123,220 3,331
=3 46,824
Al 79,727
11 A EXAIEEX 126,551 123,220 3,331
o2=z4 ossty 249 126,551
& 46,824
Al 79,727
2sEAYE N2 XS 10,000 10,000 0
& 4,000
Al 6,000
307 2iz2to| A 10,000 10,000 0
&< 4,000
Al 6,000
11T AISIEXAIEEX 10,000 10,000 0
otiestasAd Az XA 10,000
o 4,000
Al 6,000
2359 HHs 9o U235 &M 13,000 13,000 0
201 et 10,000 10,000 0
03 A2 | 10,000 10,000 0]
O23te 8= 90 USSIrE0 M 5,000
ost= 18 &3 HE 5,000
301 et A= 3,000 3,000 0
09 HAIAHI BEAZ 3,000 3,000 0
O23te 8= 90 UESSIr= &M 3,000
S20us 29 22,162 22,162 0
J| 15,514
o 2,216
Al 4,432
307 2I2t0| ™ 22,162 22,162 0
J| 15,514
o=} 2,216
Al 4,432
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2N

(Rl ==
A

b
dM: O23tAte XA
chel: OEtAE K& (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
11 AISI S XA E = 22,162 22,162 0
Ost=0uE 2L 22,162
| 15,514
< 2,216
Al 4,432
ZE0I2A SHAMHA XA 66,672 51,696 14,976
| 46,672
< 6,667
Al 13,333
307 21201 A 66,672 51,696 14,976
| 46,672
< 6,667
Al 13,333
1A S XA E X 66,672 51,696 14,976
OZE0I2A S - HAMHIA 66,672
| 46,672
< 6,667
Al 13,333
ZE0IA HPEHUWS 17,500 18,000 A 500
< 7,000
Al 10,500
307 glz2tol & 17,500 18,000 A 500
< 7,000
Al 10,500
11 ALSI S RAEE = 17,500 18,000 A 500
OZE0I2UA A=A 17,500
< 7,000
Al 10,500
ZE0I8X sAFHSE XA 53,000 55,500 A 2,500
< 21,200
Al 31,800
307 glz2+ol & 53,000 55,500 A 2,500
= 21,200
Al 31,800
11 AISI S XA E X 53,000 55,500 A 2,500
OZE0I2A st HF=E X& 53,000
= 21,200
Al 31,800
ZE0IQIA CHE SHHIXIR 20,000 12,000 8,000
= 8,000
Al 12,000
301 L2 A Z 20,000 12,000 8,000
< 8,000
Al 12,000
01 MEIBE X263 20,000 12,000 8,000
OZ=0l2X e s XA 20,000




2AM: 6HEIIED
HH: [23HALE
o2 CI23AlS

(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 8,000
Al 12,000
ZYIH0=HLEESAIE2SE XA 153,245 150,746 2,499
J| 107,272
< 15,324
Al 30,649
307 glz2tol & 153,245 150,746 2,499
J| 107,272
< 15,324
Al 30,649
11T M SRAISE EX 153,245 150,746 2,499
ZSIIH0IFHE ESAIE 2 XA 153,245
J| 107,272
< 15,324
Al 30,649
ZHIIH0IFHEESAIE AN SX=E 21,120 20,760 360
< 1,728
Al 19,392
307 21201 A 21,120 20,760 360
< 1,728
Al 19,392
10 ALSISEXAIEEE2EHEX 21,120 20,760 360
OZHIUMNOFTHEESAE SAR =X+ 21,120
< 1,728
Al 19,392
HE2LAZH (HEIED) 93,984 93,776 208
Jl2ddl(Hdot=1) 93,984 93,776 208
JI2ZHI (A=) 93,984 93,776 208
201 Let2d] 48,864 47,816 1,048
01 At 221l 48,864 47,816 1,048
oL+t 22,400
ORI+ 10,000
O= &l 16,464
202 O4Hl 40,320 41,760 A 1,440
01 = LH 4 4 40,320 41,760 A 1,440
OJIegdfF=8 40,320
203 R =&l 4,800 4,200 600
04 FN2ELRZ=TH| 4,800 4,200 600
ORM2IYRFLH 400,000& 123 4,800
MRes(068ts1) 100,000 0 100,000
WEHAXS (6 EII=1) 100,000 0 100,000
d8s8)ls N 100,000 0 100,000
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AN GEIEY
H: WHRES(0EHE=)
@2l WEHAXES(HE =) (Sl & &)
x 5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
702 JISEEZS 100,000 0 100,000
100,000 0 100,000

100,000
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